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               BAL BHARATI PUBLIC SCHOOL, PITAMPURA, DELHI – 110034 

  CLASS III 

Solve to Evolve -No 26 Answer Key 

 

Name - ______________________ CLASS / SEC      _____     Date 31.10.2020 

 

Q1. How many numbers are there which are immediately preceded by 2 and 

immediately followed by 5 in this series. 

5 2 4 3 2 1 6 5 3 2 1 5 2 4 5 6 8 9 

 

a)    1                  b) 2                        c) 4                d)   5 

Answer – Part b ( 2) 

 

Q2. When Lalita was 6 year old ,her sister Annie was half her age. If Lalita is 40 

years old today,how old is Annie? 

 

 

a)  20yrs                      b) 37 yrs                c) 43 yrs             d)  34 yrs 

Answer- Part b ( 37 years) 
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Q3. WHO’S THE RICHEST ? 

Four friends have all been saving money. Brad has more than Adam but 

not as much as George. Jenny has more than George. List the friends in 

order from who has the least money to who has the most. 

 

 

 

Answer - Adam, Brad ,George , Jenny 

 

Q4.   In one trip a car can take 6 people. In how many trips can it take 30 

people? 

a) 5 trips    b)   6 trips    c)4 trips    d)  10 trips 

 

Answer-Part a   (5 Trips)   

Q5.  In which one of the following numbers, the digits cannot be rearranged to 

get another three digit number? 

 

a)  400   b)  425   c)  968   d)  129 

Answer- Part a ( 400) 


